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 BCOC-134  

BACHELOR OF COMMERCE (GENERAL) 

(BCOMG) 

Term-End Examination 

February, 2021  

 

BCOC-134 : BUSINESS MATHEMATICS AND 

STATISTICS   

Time : 3 hours Maximum Marks : 100 

Note : (i) Attempt both parts A and B. 

 (ii) Simple calculators (non-programmable and 

non-scientific) are allowed.  

 

PART A  

(Business Mathematics) 

Attempt any two questions from the following.  

All questions carry equal marks.  

1. (a) What do you mean by simple interest and 

compound interest ? Explain the concepts 

with hypothetical example.   15 

(b) Explain nominal and effective rates of 

interest with example.  10 

2. (a) What are the different types of matrices ? 

Explain with examples.  15 
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(b) Suppose Mr. X has two factories at places A 

and B. Each factory produces sports shoes 

for boys and girls in three different price 

categories labelled 1, 2 and 3. Matrices of 

quantity produced by each factory are 

represented below : 

           Factory A        Factory B  

         Boys     Girls     Boys     Girls 
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 Calculate the total production of sports 

shoes in each price category.  10 

3. (a) Let A = 
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
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, then find out  det(A). 10 

(b) Find  
5x

lim


 f(x)  where  f(x) = 
5x

25x2




. 15 

4. (a) Find 
dx

dy
 when y = (2x2 – 6) (3x3 + 8). 15 

(b) Differentiate between Price elasticity, 

Income elasticity and Cross elasticity of 

demand. Give suitable example to support 

your answer.  10 



BCOC-134  3   P.T.O. 

PART B 

(Business Statistics) 

Attempt any two questions from the following.  

All questions carry equal marks.  

5. (a) Find out the missing frequency in the 

following table, if mean is 30.  10 

Class Frequency 

0 – 10 5 

10 – 20 6 

20 – 30 10 

30 – 40 ? 

40 – 50 13 

(b) From the results of two colleges ‘A’ and ‘B’ 

given below, find out weighted mean, and 

state which of them is better.  15 

Class 
College A College B 

Appeared Passed Appeared Passed 

M.A. 100 90 240 200 

M.Sc. 60 45 200 160 

B.A. 120 75 160 100 

B.Sc. 200 150 200 140 

6. (a) Differentiate between Descriptive and 

Inferential statistics.  5 

(b) Explain functions and importance of 

Statistics.  10+10 
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7. (a) Calculate Standard Deviation from the 

following data :  10 

25 34 48 36 42 70 30 60 45 50 

(b) Calculate the trend values by least squares 

method from the following data and 

estimate the sales for the year 2000.  15 

Year 1994 1995 1996 1997 1998 1999 

Sales  

(< Lakh) 
120 140 150 170 180 200 

8. (a) Discuss various preliminary adjustments 

that are necessary to do before analysing a 

time series data.   10 

(b) Compute Fisher’s ideal index from the data 

given below and show that it satisfies the 

time reversal and factor reversal tests.  10+2+3 

Commodity 
Base Year Current Year 

Quantity Price Quantity Price 

A 12 10 15 12 

B 15 7 20 5 

C 24 5 20 9 

D 5 16 5 14 
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 ~r.gr.Amo.gr.-134  

dm{UÁ` _| ñZmVH$ Cnm{Y (OZab)  
(~r.gr.Amo.E_.Or.) 

gÌm§V narjm 

\$adar, 2021 

 

~r.gr.Amo.gr.-134 : ì`mdgm{`H$ J{UV Am¡a gm§p»`H$s 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

 ZmoQ> : (i) ^mJ A VWm ~ XmoZm| H$s{OE &  
 (ii) gmYmaU H¡$ëHw$boQ>am| (AàmoJ«m_r` Am¡a Ad¡km{ZH$) H$s 

AZw_{V h¡ &  

^mJ A$ 

(ì`mdgm{`H$ J{UV) 

{ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & g^r àíZm| 
Ho$ A§H$ g_mZ h¢ & 

1. (H$) gmYmaU ã`mO Am¡a MH«$d¥{Õ ã`mO go Amn Š`m 
g_PVo h¢ ? H$mën{ZH$ CXmhaU H$s ghm`Vm go 
g§H$ënZmAm| H$mo g_PmBE & 15 

(I) ã`mO H$s A§{H$V (Zm__mÌ) Am¡a à^mdr Xam| H$s EH$ 
CXmhaU g{hV ì`m»`m H$s{OE &  10 

2. (H$) {d{^Þ àH$ma Ho$ Amì`yhm| H$s CXmhaUm| g{hV ì`m»`m 
H$s{OE &  15 
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(I) _mZ br{OE {_ñQ>a X Ho$ nmg Xmo OJhm| A Am¡a B na 
\¡$ŠQ>[a`m± h¢ & àË òH$ \¡$ŠQ>ar _| b‹S>H$m| Ed§ b‹S>{H$`m| 
Ho$ {bE ñnmoQ²>©g eyµO H$m CËnmXZ VrZ {d{^Þ H$s_V 
H¡$Q>oJar bo~b 1, 2 Am¡a 3 _| hmoVm h¡ & àË`oH$ \¡$ŠQ>ar 
Ûmam CËnm{XV _mÌm H$m Amì`yh ZrMo {X`m J`m h¡ : 

               \¡$ŠQ>ar A            \¡$ŠQ>ar B  

        b‹S>Ho$     b‹S>{H$`m±    b‹S>Ho$      b‹S>{H$`m± 
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 àË`oH$ H$s_V H¡$Q>oJar _| CËnm{XV Hw$b ñnmoQ²>©g eyµO 
H$s _mÌmAm| H$s JUZm H$s{OE & 10 

3. (H$) _mZ br{OE A = 








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
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


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 h¡, Vmo det(A) kmV 

H$s{OE & 10 

(I) 
5x

lim


 f(x) kmV H$s{OE Ohm± f(x) = 
5x

25x2




. 15 

4. (H$) 
dx

dy  kmV H$s{OE O~ y = (2x2 – 6) (3x3 + 8) h¡ & 15 

(I) _m±J H$s H$s_V àË`mñWVm, Am` àË`mñWVm Am¡a 
H«$m°g àË`mñWVm _| AÝVa ñnï> H$s{OE & AnZo CÎma 
Ho$ g_W©Z _| C{MV CXmhaU Xr{OE &  10 
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^mJ ~  

(ì`mdgm{`H$ gm§p»`H$s) 

{ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & g^r àíZm| 
Ho$ A§H$ g_mZ h¢ & 

5. (H$) {ZåZ{b{IV Xr JB© gmaUr _| AkmV Amd¥{Îm kmV 
H$s{OE, `{X _mÜ` 30 h¡ & 10 

dJ© Amd¥{Îm  
0 – 10 5 

10 – 20 6 

20 – 30 10 

30 – 40 ? 

40 – 50 13 

(I) Xmo H$m°boOm| ‘A’ Am¡a ‘B’ Ho$ n[aUm_ ZrMo {XE JE h¢ & 
^m[aV _mÜ` kmV H$s{OE Am¡a ~VmBE {H$ {H$g 
H$m°boO H$m n[aUm_ ~ohVa h¡ & 15 

H$jm 
H$m°boO A H$m°boO B 

gpå_{bV CÎmrU© gpå_{bV  CÎmrU© 
M.A. 100 90 240 200 

M.Sc. 60 45 200 160 

B.A. 120 75 160 100 

B.Sc. 200 150 200 140 

6. (H$) {ddaUmË_H$ VWm {ZîH$fm©Ë_H$ gm§p»`H$s _| A§Va 
ñnï> H$s{OE &  5 

(I) gm§p»`H$s Ho$ H$m`© Ed§ _hÎd H$s ì`m»`m H$s{OE & 10+10 
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7. (H$) {ZåZ{b{IV Am§H$‹S>m| go _mZH$ {dMbZ n[aH${bV 
H$s{OE :  10 

25 34 48 36 42 70 30 60 45 50 

(I) {ZåZ{b{IV {XE JE Am§H$‹S>m| go, Ý`yZV_ dJ© {d{Y 
H$m Cn`moJ H$aVo hþE àd¥{Îm _mZ n[aH${bV H$s{OE 
VWm df© 2000 Ho$ {bE {dH«$` H$m AZw_mZ bJmBE & 

 15 

df©  1994 1995 1996 1997 1998 1999 

{dH«$`  
(bmI <) 

120 140 150 170 180 200 

8. (H$) H$mb loUr Am§H$‹S>m| Ho$ {díbofU go nyd© Amdí`H$ 
{d{^Þ àma§{^H$ g_m`moOZm| H$s {ddoMZm H$s{OE &  10 

(I) {ZåZ{b{IV {XE JE Am§H$‹S>m| go {\$ea Ho$ AmXe© 
gyMH$m§H$ H$s g§JUZm H$s{OE VWm Xem©BE {H$ `h 
H$mbmoËH«$_U narjU Am¡a CnmXmZmoËH«$_U narjU H$mo 
g§Vwï> H$aVm h¡ &   10+2+3 

gyMH$m§H$ 
AmYma df© dV©_mZ df© 

_mÌm _yë` _mÌm _yë` 
A 12 10 15 12 

B 15 7 20 5 

C 24 5 20 9 

D 5 16 5 14 

 

 


